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1. What 1= the value of log, log; HITJT'-E equal | 4, A square matrix A is called orthogonal if
to?

la) A=A?
ta) Blog,7 () A=Al
b 1-3log,7 e} A=A"
(d A=A

fed 1—8log.2
where A' is the transpose of A,

T
dr =
- 6. IfA B and C are subsets of a Universal set,

then which one of the following is not correct ¥

2. If an infinite GP has the first term x and the fa) AUBACI=(AUBINAUC

sum 5, then which one of the following is

correct ? by A UIAUB =(B NAY UA
(a) x<=10 @/ AUBUO=CNB NA
(b} —-1<x<0 dy " ANBIUC={(AUCIN(BUC)
(g} D<x<10 where A is the complement of A
{d} x>10
6. Let ¥ be the number of integers lyving between
4. Consider the following expressions : 2009 and 8001 which have al least two digits
1 equal, Then x is equal to
L R = —
X (a) 2480
(b} 2451
2. Jﬂ_xi+hx+x—t4-l-:l-——a:_;
R (e) 2482
3. 8x*-5x+ab (d) 2483
b o I i :
' % _ax + bY 7. Thesu.mcrfu:umri-asﬂ—la.-i—g + .. 08
g 1 2 equal to
" x x+B Gy 30
.H g
Which of the above arerational expressions 7 9
{h) e
{a) 1,4 and 5 only 0
{b) 1,3, 4and 5 only (el %
{e) 2,4 and 6only 4
(d) -
idy 1and2only 4

YPL-S-BLU (3—-A)
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Consider the information given below and
answer the fwo (02) items that follow ;

A survey was conducted among 300 students.
It was found that 125 students like to play
cricket, 145 students= like to play foothall and
a0 students like to play tennis. 32 students
like to play exactly two games out of the three

Eames,

8. How many students like to play sll the three
gamoes 7
] 14
by 21
c] 2B
(dy 36
9. How many students like to play exactly only
one game ?
(al 196
ihl) 228
el 254
iy 268
10. If o and [ (= 0 are the roots‘af the quadratic
equation x* + ax — i = 0, then the quadratic
expression —x° +ax + | where x e B has
ia) Least value — %
g
ib} Leastwalue ==
4
(e} Greptest value -II
& 9
id) Greatest value E
YPL-5-BLU

11.

12.

13,

{5=-A)

What is the coefficient of the middle term in

the hinomial expansion of (2 + 8x)t 2

lal 6
(b 12
e} 108
d) 216

For a square matrix A, which of the following
properties hold ?
1. JdA =4

1

. =1} =
20 SdéuA Aot A

3, (3471 = 3A-) where L is a scalar

Select the eorrect answer using the code given
below :

ta} 1 and2only

ib) 2 and 3 only
) 1 and3only

idi 1,2and3

Which
does the expangion of the determinant
X ¥ 3

of the following [actors

one

9 | contain 7

{a) x-23
b} x-¥%
(el w¥v—4
idl x=-3y
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(a) €7, 11)
by C ({12, 8)
(e} C©{17, 5)%C (5, )

id) Ci6,3)=C(12 8)

logy, 27 +log, 32 1 719 70 # ?

T
fa} =
X z
] 15
(131 e

6
{el 4
dy 7
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14, What iz the adjoint of the matriz 1&.
{oppsi—8)  —sinl- )] .

|, — ginl— B} gosi=H) | -

coafl  —sinb)
{1 |
| — gind cods b
costl  smmH’
it
(gind  cosd
cosh  sing
el
| —zint  cosd
17.
‘enafl  —sind)
id)

| gin b nusﬂJ

15. What ia the value of

2 2
where i= -1 ? 18,
iad A
by &
il 1
idi 0
YPL-S-BLU (F—A)

There are 17 cricket plavers, out of which
5 players can bowl. In how many ways can a
tenm of 11 players be selected so ag to include
3 bowlers ?

(a) C(17,11)
G 8
(e) ©(17, 5= C(5,3)

() €5, 3)=C(12,8)

What is the value of log, 27 + log, 32 ?

i
(@) 5

19
[k kot
I 6
(el 4
) ¥

If A and B are two invertible square matrices
of same order, then what is (AB) ™ equal to 7

a BlaT!
(b} A'R?
fch B 1A
d} Alp
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(a) FETA 2

(b)  #E R, U afpdE e S we

(c) W B, A FAH Bl o WA

id) e fifEmamEm ¥ x-wE F weoEy
REQR.

(8-A)

22. wE (FE) & ol & gwy § Fesfafaa

HEEE R 7
(a} T HEEE E

b # 3 B A v aw w oA #

(c) W T AT NS W R
(dy TTE O wE A

g u, v Wow (o gAeEs) uw it Af
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i u p 1

Inv q 1| % HAfEE 2

b

|

Inw r ]J
tad O
(b} 1

{e) (p—-glig=r)ir-p)

idl lmu=xinvzinw

R AT (1 4+ x20 % fue o # wen o2 =
Eﬂiﬁnﬁaﬂfrl+x}h'1ﬁ5ﬁqﬁmﬁiﬁ
HEq W5 & N i 3R ¢ § | Frefefies dei |
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bl o<p+y
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idi a=py
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If a4+ h+c=0, then one of the solutions of
a8 —x e b
b-x a =0 is
b a c—X
ial Xx=8

2
b Ela +b 4]

{c}

Jila +b¥ 4y

dy =x=0

What should be the wvalue of % 30 that the

2 4
matrix ] does ot have an inverse ?

-8 =x,

fa) 18

(bl =16

(el 8

d) -8

The sy=tem of equations
m+y—dz=05,

Ix—-2v+ 2z =5 and
bx-dy-z=18

(o}l isinconsistent

(b}  is consistent, with a unique selution
{g} i3 consistent, with infinitely wmany
solutions
id) has its solution lying along x-axis in
three-dimensional space
¥PL-S-BLU

23.

(S=A)

Which one of the following is correct in respect
of the cube roota of unity 7

{a) They are collinear

ik} They lie on a circle of radius v3
ic} They form an eguilateral triangle
id) MNone oftha above

If u, v and w (all positive) are the p'™, ¢'" and
th fermsof & GP, then the determinant of the

fna p 1
matrix | In v i 1]is
In w r 1
ta)y 0
(hy 1

el p=gilg-r)ir—pl

In wwdn v ln w

td)

Let the coefficient of the middle term of the
binomial expansion of (1 + ¥°® be « and those
of two middle terms of the binomial expansion
of (1 + x*" =1 be P and y. Which one of the
following relations is correct 7

{a) a>P+vy
b} a<P+y
(e} m=p+y
(d}y o=py
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25. AR EEU A= (xR l=xs1l,
BalyeR:-1sys1Rt st s AxBw
MEE_HE-:ﬁ5=|II,F*Eﬁ}EB:12+5E=1I
ZnT aftarias # |
fonfeafia 8 & &ih.m v agt 2 ¢
(a) 8, A B U U% THA S #

(b} S A BT TH 950% o

(] S A® B A TF vk seEE wfataam
[

(dl SV e T8 8

26. WA #fifom 6 r=1,2 3 .. F Fm T, e
wHEL Eofl (AP) &0 At ug # | 3 fEdt Bt fim
YA QTR m W on & fom EER ue
Tp=Vn3M T, =1mi, @1,  FFeEs s
77
(a) (mmnj*

(b} m!+n?
e 1
(d) 0
27. WM ®itaw % fx) 8 v wrus e sres
- # o ol amfaw 5 g R
T gix) = fUx) + Plxb+ M &, a1 et ot
Yretas x & fom
(a) gmix)l<D
(b} pixi=0
Ll gixl=0
dl gExh=0
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28, UHHOE e F AR A, B CF Haw §

Fr=fafes w fimm $ifim
1. MA+B+CV=A+B +C
2. (ABY=A'B

3.  (ABC) =C'BA

T A, HISIE A T ufE 2 |
394w ® | T AR 7
WEe 1 M2

(b “FEe 23 g

(e) /et 1 3R

1,2 51 3

ial

Ly

29, feamafl semad (11011, (10110110), 3

a0,

(10-A)

(10011x0y), 1  apred, fGamafi  gem
(1011011013, 8 | x 37T y & o 791 & 2

LE: )
b}
e} =x=0,y=1
d) x=0,y=0

uiA cfifim 5 wmeqe B, us 9 smegm A =
HeEEd =R B, A S @ ¥ =R = ww
AEHEE R [ | AR k i#0), WEHE A W
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fay |

(bl L

ey W4
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25 let A=[xeBR:—1<x<l}],
B=lyeR:-13y<1]and Sbethe
subset of A = B, defined by
S=lix,vieAxB:x"+y =1l
Which one of the following is correct ?
{a) S is aone-one function from A into B
(b} 5 is & many-one function from A into B
ic] 5 is abijective mapping from A into B
(d) S is nol a function

26. Let T  be the r'' term of an AP for
r=1, 2 3, ... I for some distinct positive
integers m and n we have T_ = 1/n and
T, = 1/m, then what is T__ equal to ? 29,
(a) (mny?
hi ml+n?
i) 1
d) 0

27. Suppose fix} is such a quadratic expression
that it is positive for all real x. 3.
If gix) = fix) + Plxy'+ £x), then for any
real x
(a) gxl<l
by gixl=0
€] gixi=0
(d)  glx)z0

¥PL-S-BLU {11-A)
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28, Consider the following in respect of matrices

A, B and C of same order :

1. (A+B+C/=A+B+C

2. (AB=A'R

3. (ABC)Y =CB'A

where A’ is the transpose of the matrix A.
Which of the above are correct 7

fa) 1 and 2 only
(hY 2and 3 only
{c) | A and 3 only

{dv. 1, Z2and3

The sum of the binary numbers {11011},
(101101100, and (10011xly), is the binary
number {101101101).. What are the values of

x and v ?
ml] x=1,y=1
() =x=1,y=0

c) x=0,v=1

(d) z==0,y=0

Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A
If k (=0} is the determinant of the matrix A,
then what is AB equal to ?

(ay

(bl ki

ie) k¥
iy (1)
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31, AR (027 =2 R log,, 2 = 03010 B, A x
Wi e gam we R g

tal  —100
(b} —05
(e —04
ey -02

a2, nﬁaﬁmﬁsﬁlﬂﬂﬂﬁﬁsmaaﬁﬁmgﬁ:
ferait weamd = = = # ¢
fa} 45360
(bl 30240
() 27216
{d} 16120
X ¥ ¥4z
33, SFYF |z x z+x| T AN ERETR 7
y = x4y
a) x=ylly—z{z&%)
b} ix—yhiy—=z
led (y—zllz—x)
{c} Ez—m"!#'.-:+_1.r+z}
YPL-S-BLU v
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34. afg A B3N cvs ByE 5w # o

| 1 1 1

1+&inA 1+EinB 1+ginCc | =90
E-:i.l'l.ﬂ.+3l.ﬂ2.§. J:nHrsingE Em{:|ﬁiﬂ=ci
B, @ Ffafaa 4 4 sham ves gt B 0
(a) Frqw ARC wwfgams &
(b) Trga ABC @
ey Fq= Ape Fmang 2
(dy o o wwf % 9w § W Feed ol
A WA

UFHAE HiE F oaeqE A 3N B % Ay #
ﬁﬂ%ﬁamﬁ?nﬁﬁ'q

1. A*_B*=(A+BI(A-B)
2. A-DI+A=0A%=1
FE 1 AENE iR # AR O I e R
I 8 | FRmE o A8 o
{a) AW 1
(by a2
(el 1R 23
(dy T 1,TE2

86, 08 fd ar #
1+ tan©f@
L&l oo 20
(b}  tan 20
{e) sin 2
id] cosec 20

Al
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81. If (0:2¥ =2 and log,, 2 = 0-3010, then what fg4
ia the value of x to the nearest tenth 7
(a} =100
iby —056
el =04
) =02
32, The total number of 5-digit numbers that ean
be composed of distinet digits from 0 o 915 i
la} 45360
(b 30240
(e} 27216
d) 15120
%9. What is. the determinant of the matrix
‘% ¥y vz
g % =4Xx 7
l}" ¥ X + _}'J
(x—91(y= -
(@l x=¥liy=zliz—-x} 34,
by (x-yhiy—2l
e y—zliz—x%;
(d) (-0 {x+y+2)
YPL-S-BLU (13-4
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If A. B and C are the angle= of a triangle and
1 1 1

1+uind =10,

1+sinB 1+5inC

sind +ain® A sinB +ain®B  snC+ein*C

then which one of the following is correct 7

{a) The triangle ABC is isosceles

(b} The triangle ABC is equilateral

ie) The triangle ABC is scalene

(d} Mo conclision can be drawn with regard

to thenature of the triangle

Consider the following in respect of matrices A
and B of same order :

1. A*-_B*=(A+B){A-B)
3 (A-DI+AI=0s=A=1

where T iz the identity matrix and O is the
null matrix.

Which of the above is/are carrect 7

{a) 1only

(b} 2 only

ey PBoth1and2

{d} Neither 1 nor 2

What is — 228 equal to?
1+tan® @

{a} coa24@

(b) tan 20

{¢) sin 20

id) cosec 26
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47. Hﬁsﬂcfﬂ—u], see 0 HHT secfu-v-m,"ﬂ'ﬂ'iﬁl"}"ﬁ

(AP)H B, T8 cosom 1B, 77 sin? 6 + cos @ 1
uH T4 # 2

ta) 0
by 1
el =1
id] %

e A+B+C=180° % @
sin 2A - sin 2B - sin 20 TFo% s 2 0

(a} —dginAsinBsinC

(bl —4cosAsinBeeosC
(e} —doozAcosBsinQ
idl —-4sinAcosBeosC

o T R gE & Rt die ()
Ll I S e e
0 48 R | 93 99 & Fw F AN $t Sun

40. = wayls d w0 A R | = i

41,

HHET 3 (3 - tan” A - cot AP = 1 I GO
=M el a s asrom a2 o

(ay  300°
(b} 315°
e} 330°
(d} 345°

h F=E i TF T & Wi A B de W
ﬁﬁmﬁa?ﬁ&%ﬁmﬁmm:gfﬁg
Fimd R Fadam gy

{a] 2h
dh
(b} “:3_
ey h
h
Ed} E

ity S cosee x + cot x = V3 FF
Eﬁwmqﬁﬁﬂﬂxd:ﬂnﬁ?

122 m #, &t g@ i wend a4 2 7 &) 3'55'5'%
(a): 122 =in48°m ©

T L | g
bl 122 tan 42" m

L) -'?Iﬁa T
(¢) 122 cos 48° m

n bn
id) 122 tan 48° m Co 1ty
YPL-S-BLU (14-A)
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37.

38.

38,

YPL-5-BLU
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If see (B — o), sec @ and sec (0 + a) are in AP,
where cos o = 1, then what is the value of

gin0+cosa?

m) O
by il
ey =1
1
4 i
(d} 7

If A+B+C=180°, then what is
gin 24 — sin 2B —sin 2C equalto?

{a) —4sinAsgnBgsnC
ibl —-4cosAginBeosC
(g} —dcosAcosBainC

idl —4snAcosBeosC

A halloon is directly above one end of a bridge.
The angle of depression of the other end of the
bridge from the balloon is 48°. If the height of
the balloon above the bridge 18122 m, then
what is the length of the bridge ?

() 122 sin 48° m
(b 122 tan 42° m
{) 122 pos 48°m

idy 122tan 48°m

{18=-A)

40. A is an angle in the fourth quadrant. It

satisfies the trigonometric

33 — tan® A - cot AP = 1. Which one of the

equation

following iz a valuoe of A7

(a} 300°
(by 315°
ey  330°
id) 345

The top of a hill chserved from the top and
bottom of a building of height h is at angles of
elevation E’I ol % respectively. What is the

height of the hill ?
(n) 2h
3h
{1 e
el h
h
d) —
[ 2
What isfare the solutionia) of the

trigenometric egquation cosee X + 00t X = 3,

whers 0= x<2n7

bn
b = onl
&) 3 ¥

.

ki = {1

{ 3 Iy

ey monly
o hn

o wgig
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43. ﬂﬁﬂ&%i,fﬁ

(2 cos 0 + 1) (2 cos 20 — 1)1 (2 goa g - 1110

cal i bR
ta} O
hy 1
ey 2
iy 4

4. TR s o M cos PO < o < P < ), Fwm
m433'3=ﬂ'%@ﬁ1ﬁmﬂxaecﬂ
G R
ia) —;

4
4
® 3
{14 ] E
4
id) - 2
4

45. x F=ffes aq o R i
1. B
2. -

q 1
6
£ e
4
x ¥ IE WMl d 0 sHas  mdm
tan™! (2x} + tan~? (3k) = fiw% Bt A ¢
(m) HEH 3
(b) %Had 233
e HgEm 14
(d) a4
YPL-S-BLU

(2 cos 48 — 1)1¢

[{16=A)

46, AL v W A9 (GP) w1 g

47.

92 2% 3t
T I WA W AR § B, A1 it A
(GP) R

I |
iﬂ;l Hq 21 ol Wit
2° 8
(b1 10,2, 2131_
3 g
) 43 1N 1
2 Vad
g 30 3
d) 63, =, .
2 4

ﬂﬁa.h.faﬂﬁlhﬁmyﬁm&uﬁmm
awft ® &, @ :—:bﬁmﬁim%?

(@) 2 spear 1 svear D

1] c

by £ mpwEr £ amwary
a h

() 139 2 g 2

b c

(d) 13eE R amar &

b a

#1 st < TH o gt w e w2
o ot d9 S 3, 4 o0 5w oA §
Wl i &1 ggha whed 9277 8 2

fal 2664
(b) 3882
el 4044
id) 4444
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43. If H=E,thmwhamumualumf 46.
(2 cos B + 1)17 (2 cos 26 — 1)1%(2 cos 8 — 1)19
(2 cos 46 — 119 7
{a) O
(b} 1
ey 2
(dr 4
44. Ifcoz oand cos (0 <o < B < n) are the roots
of the guadratic egquation 4x? - 3 = 0, then
what is the value of sec a = sec i 7 i
" L]
ay - 3
4
h =
(b 3
3
] -
Lo 1
i |
¥ — e
(d A
45. Consider the following values of x :
1. B
2. —4
1
% B
1 48
i =i .
4
Which of the sbové valies of x igfare Lhe
solution(s} of the equation
tan~t (2x) + tan~! (3x) = : ?
{a) 3only
ib) 2and 3 only
(el 1andd4only
idl 4 only
YPL-5-BLU [(1T—-A)

If the second term of & GP is 2 and the sum of
its infinite terms is 8, then the GP is

(al B,E,%,%.

B 10,2, 2,2,

© 4,2 1,%,—2;-2-—,.

(d) 5.3.%,%1

If a, by ¢ are in AP or GP or HF, then i:: is
egqual'o

La) Eanur%

(hi Enr%-nrl

feh lnr%m%

(d) 1nr%c+r5

What is the sum of all three-digit numbers
that ¢an be formed using all the digits 3, 4 and
B, when repetition of digits is not allowed ?

ia) 2664
{b) 3852
(el 4044
id) 4444
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F gElil @ e wvE # | a2 D, ¥ D,
D
w09 T wHE &+ e ) om@ D—’ e
2
g # Y
2
m 2
P
a
(bl i
P
2
fel -
B
id) I °§ | wE TE
50. #fE A = sin? 6 + cos? 0 %, A ot TR o &
o da s o afi g 0
(2] 1<=A<%
3
thy —<A=<1
¢ i
13
&) ==x=
i lﬁ_ﬂﬂl
s 3] gEﬁLEE
4 16
51. foefl 99 & os = & @i (3im) g (x,, )
AW (xy, y,) &, 71 30 g 7 et B
tal m—HIH::—12}+{y—31}{y—}'2?=:¢"’+ﬁ
(b} Lt—xljzﬂy—_!.rlliuxﬂyz
(o) xi-r.}rz+?}:]xi+2}*13rﬂ=[!
) dx—x) (x—x) + iy =3y -y, =0
YPL-S-BLU (18- A)

63,

ﬁﬂ'ﬁ'ﬂmxu+4ﬁ—h-4y+3=u.m
fefm s g o

% g
(b)  37erd 398 190 o dEge
Le) i—EIﬁ-ﬁﬂﬂHﬁﬁﬁﬁﬁ

(d) v O B wE 96

A x+my+n=0 3N
U's +m'y +n' = 0% o9 & 19 an-1n fm
o ferrer A B ¢

gy (fm—¥m
' — mm’

TR )

im'+ {'m
(b}
L’l’ + mm’
im"— {'m
il L re——
: H'+mm"
(d) fm' +f'm
i — mm'
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The ratin of roots of the eguations

ax? + bx + ¢ = 0 and px® + gx + = 0 are equal.
If D, and D, are respective discriminants,

then what is % equal to 7

3

%

{a) EE
P

@

(b} h—i-
0

Ll ﬁ

. 3

(d) MNone of the above

B0O. If A = sin® 6 + eos® f, then for all mal-ﬂ,
which one of the following is correct ?
m 1=A=32
3
—=zA=1
{+}] r A=
13
| —— £Az1
& I8
3 13
Sl iy e B
(d} ; T
51. The equation of a circle whose end points of a
diameter are (x,, ¥ mrd Lti,_‘z.rz} 18
(a) [:r.—:-:le—xEJ-l-{y-yl}l.’y—yglzx*+yﬂ
b} '::i-:l:l'JE+li}'—}fI'|2=‘.-:EHE
{0} x%+y%+ e, + 2y,¥, =0
id} [::—115{:':—ng}d-fy—}r.l‘.'{:r—y.‘g]={l
¥PL-S-BLU

(18-A)

The second degree squation

x4 dy? —2x — 4y + 2=0 represents
(a} A point

(b}  An ellipse of semi-major axis 1
V3
te]  An ellipsewith eccentricity -

{d) None of the above

The angle
{+my+n=0 and

between the two lines
'x +m'y+n'=0 15
given by tan™! 0. What is 0 equal to ?

ial lim ol.l. ‘

' = mm'’
i ﬁt:ig!
W h;:i:‘
=
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54. Fr=afofas wedl v fam Hifmw 56. FHAT Sx - fy + 22+ 11 =0 F fag (2,3, 0 )
L. imaﬁy=m+c13ﬂly=mx#¢gﬁ; {ﬂ &
ﬂﬂﬂﬂ |=I_t,_!z| 3 | (a) l‘[ﬁ?{ﬂﬁﬂ%}
:1”“ by 2 g (areE)
2,  TEHT ax+hy +e, =0 3N |
ax + by + ¢, =Da?i]’|ilﬁr{ﬂ : ? 1 Q)
l1-*al @, ) 4 P )
a® + b?
3, mﬁx=clmx=:2%ﬁﬂﬁ§f{
e~y &1 57. M0, P, Q 3t R % Fdw w0, 0, 0,
* (46, 2m), (2, 0, 2n) 317 (2, 4, 6) 8 | 5@ =Hfaw
a9 e A R LM, N A K Fam q@nsi oR, 0P, PQ
Morw W v & g # & LMNE TS
ta) HEF 1 3R 2 Ao gva ¥ Frelt 8 Hem oy Lk s
84 e arg L%{ﬁ,ﬁ'ﬁﬁmﬁmﬂu@ilmaﬂi
n = T HHW: ) § 0
{c) HaE 1 33
Al 6,2
(dy 1,233
by 1,3
(€) 8,1
55. W = o
& i gxwﬂiﬁmﬁ @ v A @
-E:I-é_gl E rl-q-—ﬂu EIﬁuﬁﬁqﬁa
Hg.'rq:égmﬁi:#nrm-ua..-ﬁg-a:u%
HOEL & 7 x=1 y-2 z-3 a
- :m 2 8 4 T T S

(a} 20x + 25y — 54/= 0
() 25x + 20y - 54 =0 fa) xX+y+z=8 x+2y_-Az=-4
th) x+2y-2z=-1, dx+4dy—-5z-3=0

l¢] 4dx+0y—54=0
g} Sx+2y-8¢e=0 Ix-Gy+83z=-2

‘d] ":}[*5}""45“{' rd} 331_2:.._:51:_21 -:jl—ﬁ']i"l--aﬁlﬂ

YPL-S-BLU (20-A)
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54. Consider the following statements : 56,
1. The distance between the lines
¥=mx 4 ¢; and y = mx + cg is u.
v1+m?
2. The distance between the lines
ax + by +e;=0and ax + by + g, =0 is
ey - eg|
a? + b
3. The distance between the lines x = ¢
H.L'Id.1=¢ﬂ]'5||:|—l:2|. ET-
Which of the above statements are correct ?
(al 1and?only
th) 2and3 only
{c) 1and3only
idi 1.,2and3
B5. What is the equation of straight line passing
through the point of intersection of the lines
LR g R llel to
2+3-1“ndﬂ+2 ; para
tha line 4x + Gy — G =07
(8} 20x+25y-54=0 58,
(b 25x+ 20y —54 =0
() 4dx+By—-54=0
(d) dx+6v—d5=0
YPL-S-BLU (21=A)

What iz the distance of the point (2, 3, 4) from
the plane 3x -6y + 22+ 11 =07

fa) 1 unit

{b) 2 units
(¢} 3 units
(d) 4 units

Coordinates of the peints O, P, § and R are
regpectively (0, 0, 0), (4, 8, 2m), (2, 0, 2a) and
{2, 4:8). Let L, M, N and K be points on the
gides DR, OP, PQ and QR respectively such
that LMNK is = parallelogram whose two
mdjacent sides LK and LM are each of length
J2. What are the values of m and n

respectively 7

(a) 6,2
b} 1,3
ey 4,1
{d} None of the above

The line !—;1 =1'|"_2 i

3

T—

15 given by

(g zZ+y+Emb u+dy—Jz=—4a

(hy x+2v—2z=-1, dx+4y—6z—3=0
) dx+2%y—8z=0, 3x-6y+3z=-2

(d) 3x+2y-32=-2, dx-6Gy +3z=0
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YPL-5-BLU

Download More Papers From GovtJobsAlert.In

59. Fefatas wedl w fsw S .

L. WHEel fx-y+e=13Mx+y+22=3
%iﬂaﬁmﬂﬂmgk

2, HAWEH 6x - 8y + 62 + 2 = 0 aff
2;-}-+2;+4=D7$iﬂ'ﬁ=ﬁTqﬁ%UEI

v el 8 @ wE a2
(a) a1

(by HaEH 2

e 13 28

d) @ 1,3#a
ﬁ'ﬁﬁﬂﬁﬂﬁﬁ“ﬁﬁﬁ#ﬁm

Fu7 [: 4 fEget P, v 3R Qo 8 W
fiem g v gEfam W
FM o AEE w0 W

oS @ = e i) .

-jimg ¢ nt)ir® + 8]

w4 11 et oft Frqm ABC #, W W & R

a¥ =b?% + ¢ - Fbeeos AL

w9 wwl & dew §, Frfaies § 4
FIA-H U =R Y

(a) BFT ®E 19 ILaH £ 3% w99 1L w99
1 &1 5 P &

(b) = wEA 1 F I Hd #, e wEw oI
FYA 1w FE il 2

(e} U 1 W& 2, o w11 T @

() we [ e R, e e ool @

(22-A)

0 figw w1 dawe wn & s ol fag

I O R, I 1
) (o) ()0
'y 3

(] J[xl_KEHHE_IE”"H_“lH
thy 0
(e) [KI_—KEIBE—K:]]{I‘*—H]:I

KyXgpxy

'! Xy —Xn )Xy = iﬁwr:a —xj)

(d)
2’1] XaXy

afe a8, 9 <2 + 2 4 gx + fy 4 E = 0 %

& w2, A 5 T W sifie, g w0 e
g W W & 7

[55 l")
fal [=2. ==
4 (2 5
. fy
(k) —E.——|

[_ B35

o
‘..I' __JI]
i [ :
dy (-g —F)

. WA wifom B || =0, D] 20R |

(@ + )@ + Bi=|a]2+ | |2 mf
g 2, 1fs sl e o

fa) & #W b omE

(b) & 3N b FEEE

(e) & 3t B, 46° % v 9 oq §

() @ ¥ b i R
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59, Consider the following statements :
1. The angle between the planes
Ix—ye+zaslandx+ y+25=318 %
2. The distance botween the planes
fx—dy+62+2=0 and
P L1
In-v+ 2z +4=01i8 —,
3 L]
Which of the ‘above statements isfare
correct
(ad 1 only
iby 2 omly
{¢} PBothland?2
(dy MNeither 1nor 2
60, Consider the following statements :
Statement I': If the line segment joining the
points Pim, n) and Q(r, &
subtends an angle o Mt
the arigin, then
s — Ir
S e
Yim* + ™" + )
Staterment IT : In any trinngle ABC, it 15 true
that a2 = b® + ¢* - Zhe cos A
Which one of the following is correct in respeet
of the above two statements 7
{a} Both Statement | and Statement I are
true and Statement Il 4% the correct
explanation of Statement 1
(b} Both Statement [ and Statement 11 are
true, but Statement 11 is not the correct
explanation of Statement I
icd  Statement 1 is true, but Statement 11 is
false
{d} Statement 1 is false, but Statement I1 is
true
¥PL-S-BLU (23

6l. What iz the area of the triangle with vertices
) )
S - O X3
(ml |If:lsf|—:|-:2HIE—I:_L] (g, — x4}
(b} 0
(e} X1 —IE}EIE_I;H}L:] - ¥l
XyXaky
() (xy —%g i le _Hﬂb{xﬂ: =Xyt
2xxaXg
62, If v-axis touches the circle

HrPr gy :—I = ), then the normal at
this point intersects the circle at the point

e

> [ 2" %)
f [

™ |\-#-3]
B 4]
(e [ E.fJ
tlj:' [_E:_f}

83. Let |® |=0,1% | =0

(m+BI1(F+ V=7 1%+ |2
haolds if and only if

@) & and B are perpendicular

b} & and B are parallel
(o) % and B are inclined at an angle of 45°
(d) = and B are anti-parallel

—A)
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X +}fj'+;fr.%_,ﬂ‘r
v 5 o+ k) FraE w0

afet 2 - § + k alwal —4f - &, vim
W, UF g afey (gfe aee) &

(a) ,rii;*%;'diﬁﬂ
(b) ;E?.u%ﬁ-%ﬁ

i) ;:—%;—-;ﬂ
(d) ;}E'E*j_gj*%ﬂ

66, FE |a|=3,|b|=43 [a- b |=5%

A |a+ b | WMETFENRY

fa) 8

b} &

() &2

idi B
YPL-S-BLU

(24-A)

=in -
@ |A|>|B|>]C|

al F

{h) : % B

el Ec? x?]
W |z [P=| b 2

P+ 2] + 3k T miw vs safEEE w T
Tz =i Bi53 ® ak 997 0009 2 | SFafeE
& vl w1 gftam #

fal &

(b} @i

(&) Bi

(d) T ° & =
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A A L -
It F = =xi + vj + zk, then what is
e B 5
roW«01 o+ ] + k)equal to ¥

lal  x

(B} x+¥

ey —lx+y+u
dl (R+¥y+z

A unit vector perpendicular to each of the
& N
'--nu||:L4.1.t'ﬂ-2JiH —}+ E and Elf -4j -k is

il 1 & 1 lﬂ
a ——1 — ] - =
v & 8T B8,
1 =& 1 & 1pa
2t T ek
ihi \|'§1+H.j+:£
1 » 1 A 1 &
fe) = -—=j-—=5k
L -ul;-a-l ,"I'EJ _,.E
] & 1 4 1 &
d —=i+—F=]1+—7K
SR
69,
¥ — =¥
If|a|=3|b|=4ap8ha — b | =5,
e
then what is the value of | 8. +b | 7
a] 8
ihi &
e} 642
idi &
(25=-A)

a67.

=iy

-
let a, b and ¢ be three mutually
perpendicular vectors each of unit magnitude.

1f.ﬂ:=?+i}+ch.ﬂ =?—E}+?Hﬂd
- Y b ~r
C =a - b = ¢ ,then which one of the

following is correct 7

@ [A|>|BsyC |
B A |=[Bay=]C]
@ |8 PeyB =Tl
@ /TR [%1E|2|C|

. -
Whatis(a — b )x(a + b )equalto?

L) h+

(b} 2 xb

@ 2(a xb)
@ & (A=7 )R

A spacecraft located at P 2} + Si is
subjected to a force ;'LE by firing a rocket. The
spacecraft is subjected to a moment of
magnitude

{al A

(b} J3A

€h  JEA

{d} Noneof the above
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70. wE figm ABc o, ofz #wm O fawm wm, A|73. wEW

Ffeias %ol o fsm i . (ein x
o S LS EE G % w0
1. AB+BC + CA = 10 Payad o ot femm ifsm
3 - i b
2. AB+BC-CA =0 i x=0
—3 r » 2 s &
3. AB-BC+CA=0 wem & way A, Frefafes § & w0 o od
4 BA-BC+CA =20
Z (a) ¥B x =05 T
IR wmaA A o e gl # 0 el
b YR (b} 4% WriF »W Hod 8
(bl &1 (¢) W8 x=nT " 98 &
(e) {dl @8 x =09 Had &
(d) =W

T4, ¥ fix) = |x - 3| & Tom, fafafas 4 4

71. TR #ifan & % v = cos! (sin x) B =R WA U ol TE R

tan 8% | 7% IFA0A (0, ) H 6 A B ;
(a} HEH x=-3 90 Had 78 B

lH
(el st
? (b) He x =37 HAT B
by 3=
F (e} O % =09 FTHenhy 2
ich X
4 id) BEH x=- 3T FATFHE B
)y =
2
2% —sin ' x a
75, irﬁtﬁfﬂftn:—lmirmﬁqﬁ
2x +tan™ x
=1 5 % =
72. ﬂﬁl?x?:"’—i.‘nq{lﬁqﬁqqﬁqﬁmﬁa Wi fag, Wb B, @ fo) W W w0 R 7
H__
AT B, T HET ST R ta) _%
Al (—em dd L{d, eed 1
i) =
(h) (4, =) d
el (1, ) LA, o) (e} %
dr (1, 4) U4, =)
(el o

YPL-S-BLU (26— A)
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70. In a triangle ABC, if taken in order, consider | T3.
the following statements ;
—f i — —5
1. AB+BC +CA =0
e N
2. AR + BC-CA =0
- = = S ¥
3 AB-BC+CA=0
— = — =
4. BA -BC+CA =10
How many of the above statements are
correct ¥
(a) Ome
(b Two
e} Three
id} Four
T4
71. Let the slope of the curve y = cos~ (gin x) be
tan @, Then the value of B in the nterval (0, ©)
is
™
] o
1a a
an
b rlad
11} :
(c) %
75,
@ =
2
T72. Iffix)= L. defines a function on R, then
1_
what is its domain ?
(a) (—oe, d) L {4, =)
(hy 4, e
el (1,400 04, ==)
dy 11,40 {4, )
¥PL-3-BLU (27 —-A)
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Consider the function
Bin 2x if x#l
flx)=
a .
— if x=0
1&

Which one of the following is correct in respect
of the function ¥

{a) Itis not comtinuous at x=10
(b} Itiseconlinuous at every x
(e} Itisnot continuous atx=mn
{d) | Itis continuous at x = 0

For the function fix) = |x - 3|, which one of
the following is ot correct 7

{a} The function is not continuous at x = - 3
(b} The function is continuoas at x = 3

(g}  'The function is differentiable at x = 0
id) The function is differentiableat x = -3

|
s Aoetien ) = XN X L

2y +tan” L x
eontinuous at each point in its domain, then
what is the value of f10) ?

1
¢ T
[ 3
1
b =
3
p:
@& =
= 8
dy 2
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E 2 y {x)— F(1) j
76. AR fix) = J25-x B, #M leL . 1-cosd
v xoi -1 TR Mm S ferereh = ® 7
formaR e 2 7
PO (a) 2
MRLE
1 () 242
1) R
wad
i
o R 8
le) _# ¢ vfi
d+/3
1 i
{d] - e
4:‘5 id) il
i
5 -2tanvx n i BO. TH S A B O flx) =x® —dx + 5
77. ARy = tan! —]%ﬁlraﬁmﬁ '
2 + 5 tanyx dx o afnafim 8, 9@ A = (L, 4 # ) v W
il giEn (=) s & 7
W - () (@8
Ik '
b} 1 by (1, 6)
G =1
(ch [1, 5
{d] 2—11-
A (@ [1,5i
TH. Wﬂx}=x5inx+ms.w+imgxaiﬂ-ﬁ'ﬂ b b s
)
#, Frefafian 7§ & a0 vh o8R0 81 jlxlu+fr-xldx1ﬁaﬂﬂ=mt,mﬂ!,1
n n
{a) ﬁﬁ.aiﬂ‘rm[ﬂ.%]ﬂmhnﬁ e Uil FeE 8 7
(b} FE, FAE [ﬂ.%]ﬁﬂﬂ'{‘ﬁ;ﬁ?{% N w2
i
. ithy a-b
{e) ﬂu,ma|n.5]ﬁ$muﬁ%
2 @ 0
id) TE, HAUH :;]ﬁmﬁ id)  2(h-al
¥PL-5-BLU (28 -A)
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768. If fix)= \IE.E— x? | then what is | ng,
|y § =1
i
La -
J24
1
{hi
J?.d.
1
(&) ——
i 4J§
T
id)
443
41 [B—2tan Jx . dy
77. 1y =tan? |- ],Hmuw]:ﬂl,u— 0.
s [E +Btan VX dx
equal to 7
1
Lih —
& o em
thy 1
{ef =1
1
{4y
25:

78. Which one of the following 48 corréct in
respect of the function
Ex}=15in}t+msx+%l:mﬁx? B1.
fal Tt is increasing inthe interval [u. g]
ik} It remains denstant in the interval

if T[‘J
0, =
|h =
{c)  Itis decreasing in the interval [II}, %)
(d) Itisdecreasing in the intarval H- T—E‘]
YPL-S-BLL (28-A)
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1— cosd

i to ?
Whatis lim ¥——— equal
(a) J2
(b) 242

1
(e)
ST

1
{d} -
22

A function f: A — R is defined by the equation
fix) =%  — dx + 5 where A = (1, 4). What is the
range of the function ?

(a) (2, 5}

(hy (1, B)

(e} [1,8)

(dy [1,5]
b b

What is I t:]dn{-J- xldx equal to,
n i

where |.] is the greatest integer function ?

{a} b-a
(h) a-b
) O

d) Z2(b—al
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H 1
]2, II:{—ﬁ[dx Torms T 2 9 85, j[i(mn'll”dxﬁﬂ%ﬂm#?
dx X/
2 -1
fay @ @al 0
ikl 3 T
[hi —
4
(] 4
I
iy 9 W =
3
il =
v g

83, jsin*’xmmx TRk w0

g Fefafan smoe 8 8 el wem
fix) =x* - 5x + 6 BHHH B ?

(al r:ua-ir+|:

bt sin*x+e
fa) (—woo, 2]
o) {1 —sin® x1*
g I (b) 3, =)
1 - cos® x)° @ ey
dr ———+¢
4 idl €2, 3

FE o - R |

B7. T@-Hd y = p eoslax) + q sin (ax), FE p, q
s W 8, W wawe adig

Pl Lo % k) 2 .

Bd, J-E WX gy Toes o R Y i :i‘f}’:ﬂ
X
taly In|tanx | + & 2

() :f—a}mﬂ
b} I |secx|+e -
2

el tan x + ¢ el _:1:; +av=0

id) e ag

2

fd) :—'1;+ai_f,.r=ﬂ
X

FE o BHFEA-SE R |

YPL-5-BLU (30— A)

Download More Papers From GovtJobsAlert.In




Download More Papers From GovtJobsAlert.In

|
B2, What ia J|x—5|dx equal to 7

P

(a) 2
by 3
(o} 4
id 8

83, Whatis I sin” x cos x dx equal to ?

ial cos x+e
g
by = x4+

M
{1 ="2in" x) -
4

g

@ Aocox?
4

whire ¢ 18 the constant of integration.

B4. Whatis IEEmtmx-dI equakto 7

{n) In|tanx | +¢
by In |soex| +c

(el tan X + ¢
tan X
dl & +

where ¢ is the constant of integration.

YPL-5-BLU

BT.

(31-A)

1
4 (i1 1) -
What is J- {M(tan = ;rdx equal to 7

=1
a0

by - %
ic) = %
(d) %

In which one of the following intervals is the
function fix) = x* - 5x + § decreasing 7

thy 13, =)
(€}  (=eo )

d@ 2,3

The differential equation of the family of
curves ¥ = peos (ax) + g sin (ax), where p, q

are arbitrary constants, is

2
{m) —E -y =0
dx?
ﬂzy
i —% —ayv=0
dx?

() = Ay = 0
dx?

2
@ L ialy=0
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(-1, =2) #® I A AN
& __ .l % g o ad W

r o

dx %3

) 17Txy—6x"+3x°-2=0

(b} Bxly+1Tx* + 2" _3=0
() E:ﬁ:-r—ﬂ:t2 + 1?::5 +d=1

(di 1?12_}'+ﬁI_'i"—315+5=U

6 awa At i wif w7\ 2, e we
y=acosx+bsinx+ee™+d8, FAloab,e

af d =g A B 7
fal 1

(b} 2

- el 2

ﬁeﬁﬁﬁwgl

91.

@ u = ™ zin bx 3T v = ™ cos bx B,

ua -+ vix_v ﬁ?ﬂ%mﬁ 4
(a) ae®™™

(b (a4 b e™

e} abe™F

() (o4 Bpe™

92, afE v = gin lln x) B, 1 F=fefaa @ 5 |9

3.

YPL-5-BLU

(32-A)

U = B Y

d%v

e

fa) e

+y =}

(b}

U HEE % B9 H wHl Gl bl R wH W
40 m T % U AW @ 915 @O U & | 4k
it W wfirwan gwfim SEwa B, @ e
CIREEIR LR

&l 25 m
(thy 20m
e} 10m
idi H5m
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BHB. The equation of the corve passing|9l1.
through the point (-1, — 2} which satisfies
dv TR L.
E =2 —5Nx — x—ﬂ P 1
(a) 17x y—-6x+3x"—-2=0
b)  Ex'y 17" + 2x" —3 =0
{c) E:{F—212+1?15+3={J
(d) 17y + By -3+ 5= 0
82,
B9, What iz the order of the differential
equation whose solution is
y=acosx +bhsinx +ce” +d where o, b, ¢
and d are aritrary constants 7
fay 1
by 2
icy &
(dl 4
80, What iz the solution of the differential
equation [%] =ax +hy?
8a.
(a) ae™sbe™ag
”J_' lau-a- lEh:'I:t
a b
6) ase™sbe ™o
id) lE“+ ]—E_h!'l=f
8 b
where ¢ 18 an arlntrary constant.
YPL-3-BLU {33 =A)
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If u=2e"gnbx and v =e&" ¢ps bx, then

R | d
what is u—— + v— equal to ?

dx dx
fad & EEH
by {a°+b%e™™

feh ah a3

{dl  (a+bie™

If w.= gim {(In x), then which one of the
following is correct ?
2
Lol .3 y=0
dx
dg_\r
(hi —= =0
dx®
2
g d%y ¥
el x +X== +yml
dx?
2
d) Jci'd—z‘r - :u:'dl'r +y=0
dx
A flower-bed in the form of B sector has been
fenced by a wire of 40m length. If the
fower-bed has the greatest pozsible area, then
what is the radius of the sector 7
fa) 25 m
(b))  20m
(e} 10m
idl bHm
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1
0, [xix-1)+13, T8 0<x <18, F TEE 7=

THE?
TR
{a) [E]E‘
4
by 1
1
[ E
s
J1a
i 3
o (3]

95. Hﬁy:|ﬁz|ll|%,ﬁlx=—gm;ﬂﬂm
X
w7
_x
& i
@ 2°®In2 J3m
6
i
&1
w2 (6 2 +~3x)
6
. )
9 B(G§in 2+ 30
{c)
T
@ 28 (@ In 2 — JAn)
3]
dT— sin 2x
Ehii, u---—ﬁﬂ—ﬁmﬁmﬂ,aﬁqu:%
B
(Al o8 X+E0X
(bl ={(¢pax+ginx)
ieh +ieoax 4+ 50 x)
(d) FodgEE H ® F T
YPL-S-BLU

(34-A)

ﬂ.b h F
b} = i'r.axsl.u'l{htEmxJ
b oA
i “§(b tan x
(el E+Ehm [ - ]
(dy Iudemm # # i ol
FH o HATREA-SEE B |

g dHifee & fx o+ ) = By sl
fix) = 1 + xgixibix) B, & ].imng{ﬂua.-'cm"[
¥ —5

lim $ix) = bR | T fix) e o #2
X —+

{a} 1+ abfix)
(b} 1+ah

e} ab

(d} abfix)

ja) v-x4+dinix+vl=c
b} wv+x+2inlz+yl=e
e} y-x+nix+yl=c

fdy y+x+2Mnix+yi=¢

TEl o wHes R |

Download More Papers From GovtJobsAlert.In




1
94, What is the minimum value of [x(x — 1)+ 1]2,|97.
where 0<x=<17
1
f3Ya
wh .
bl 1
1
fe), =
3 g
A
(d [ﬂj“
o |
o Ixi : dy
B5. Ify= |sinx| .Lhenwhntmllmvaluanfd—
X
At X = - E T
a4,
_r:i L
@ 2562 Jar)
6
(b1 26 (6 {n 2+ /3n)
&
_x
te) 9 B8 ln2++3n)
i &
X
5 L
@ 2562 JEr)
]
a5,
dyl 2
96. What is t;’“ = equal So, where
K1
— SR — 7
4
(al cosx+zinx
(b} = {cosx+ gin x}
(el  %(cosx + 8in x)
id} Noneof the above
YPL-S-BLU (35— A)
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dx

What is equal ta ?
_[ a® sin” x + b gos® x

(a)

(b} :—it-ﬁn'l[hmnx]
ab A

el e+ itan_‘{h Lol J
ah &

(d) None of"the above

where gas the constant of integration.

Let I+ y) = filxfly) and fix) = 1 + xplxipix),
where Li_:!uﬂgtnha and Ij;-ﬁﬂx,\:h. Then
u X

what is f"{x) equal to ?

{a) 1+ abfix)
(b} 1+ab

(e} ab

(d) abflx)

What is the solution of the differential
dx _x+y+1

equation — [
o dy x+wv-=1

@) y=-x+4lnlx+yl=c
b) wv+x2+Zimix+v)i=c

&) yv-x+lnix+yl=¢
dl] y+x+2nix+vi=c

where ¢ is an arbitrary constant.
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lim Zain® x+sinx—1 ﬁFﬂ%Wi?
_— 2gin"x —9sinx+1
(1
1
ial - =
2
. 1
Wy ==
(b} 3
(eg) —2
idy -4

af% & 98 FF 9E o Fodes v e o
5 M &, W AeTEE 10 W oAgE W= R
i &

1
(m) =
! g

4
b Bcal
[ ) 3

a
() -

il
i

a0 eV & UF WOEA R TR HEey
O 8 B | A 1TiEE AEIEE g 7 9
m fararm & wivema #

{n] B
(bl
(o) Bl
(dl B8%
YPL-5-BLU {36 =

103.

104.

105,

Ad

wrefedi afn oAl & vw ffim =g A wE
= 25 9 # | AR FEAE % e 6 sl
= 26 @Y oW i & TR A 21 A R, W@
e # ameiEl st it & sfremm w2

fa) 20,80
(b) 40, 60
fer 60,40
(d) 80,20

A din o MM cos o T FTIEH WET sin p#
!inu.aﬂ'{mnuﬁil'ﬂq‘iﬁ'{ e a:i.nE%.ﬁl
fferfas f & S /a oft 8/8 2

f b
1.% 2 sinja+ ;—‘ |gin } = sin 2o
L o

i T
L 8= -
2 1..".2-' 5in mﬂ[u 4]

et feu v e = A ol e g
(a) e 1

T =

(e) 13 2 ZE1

(dy aFM1LIH 2

am #Hifaw A, B o C u% aigfees wEm 4
Eity dF Tl wataa 3 faew geand
# 132 P = 1.5 PiA) 3T PC) = 0-5 P(B) B,
a1 PrA) aoEr B

{a) :—
(b) %
Lch %
(d) %
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- I
What is  [lim EE"“; x+w|’1 : equal
:__,E 2ain”" x—damx+1
to 7
1
() ==
2
1
by -=
3
e =2
dy -3
If twao dice are thrown and at least one of the

dice shows 5, then the probability that the
sum i 10 or more i9

1
{a) E
&
b =
s 11
3
el ﬁ
2
d G
(d) 1
The correlation coefficient compited from a

set of 30 observations is 08 Then the
percentage of variation not explained by linear

reEression 15
tal  HOE
{b) 20%

{ed 64%

d) 36%

(a7

103.

104,

105,

-5 )

The average age of a combined group of men
and women is 25 years. If the average age of
the group of men is 26 years and that of the
then the
percentage of men and women in the group is
reapectively

group of women 15 21  years,

{a) 20,80
() 40, B0
(¢) 60,40
(d) 80,20

If gin fi'is the harmonic mean of sin ¢ and
cos a, and &in 0 iz the arithmetic mean of sin o
and eos o then which of the following is/are
correct ?

L. u@ﬂi.ﬂ[u+£]5iuﬂﬁstn:3:1

2; 42 Eli!lH:tl:lEI[:!—%J

Select the correct answer using the code given

below

{a) 1anly

by 2 only

ic} Bothland?2

idl] Neither 1 nor 2

Let A, B and C be three mutually exclusive

and exhaustive ovents aszociated with a
random experiment, If P(B) = 1-6 PA) and
PiC) = 56 P(B), then PiA) is egual to

{a) E
4
(b 'idfé'
el g
Lel) %
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106. % ez Faed d, 7 K v, Z SR & e

107.

YPL-5-BLU

IR & HEA: 25%, 36% 3N 40% @l &
Tmin =l 8 | weie X, Y, Z o 2w, 4% o
5% Brql Aieel o e owEh € ) Ema A g
TEfeew ¥ ¥ UF 9w e am # o T
STV 9T AT # | Ry wiEa ® R 33 i
X g1 &4 T 9 7

&)

(b}

i)

idi

8 T v oy 3o 9@ B | sndew 6 Be
W 1w Wi & 7

T

()
G4

a7

[+1]
{ Gd

aT
{c) ﬁ

229

id S
¢ 258

108. 5=l % @7 mym #, 90 3 ==feal sk

(38-A)

1 g 2 wgfeal it 2 @ 1| @WEd AR
s@es § | s wgp 0 @ efew v @ s
o= W OGN AW R | W T A wl
1 et oY 2 Tl & B9 o T wriheea @ ¢

13

{al E
9

{h) ﬁ
]

tol 55
1

(d} e

Trfeafigs e w o Sifaw

1, 3 v gt i e v | 10 g e
=, @ sitem ® o10 F gl @ oo
Gl

2. af% v gh i v wfate § 10 9 fin
wnd, & " e 8 10 6 gig 7
B

audE § & S8 FuT Ad # 0
(a) 1,23R3

{h) FEw 132

{e) e 13W3

(d) ge 2 AW 3
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106. In a bolt factory, machines X, Y, Z[108B.
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, Y, Z respectively produce 2%, 4%
and 6% defective bolts. A bolt 8 drawn at
random from the product and 15 found to be
defective, What is the probability that it was
manufactured by machine X 7

]

':H-] E

14

(T e

) a9

20

) ==

39

a4

dy —
348 108,

107. 8 eoins are tossed simuoltameously, The

probability of getting at least 6 heads 1=
T

i =LiE

2 8
avT

k] o
G4

1) .E?,_
256
229

W Fga

YPL-S-BLU (38-A)

Three groups of children contain 3 girle and
1 boy; 2 girls and 2 bovs; 1 girl and 3 boya.
One child is selected at random from each
group. The probability that the three selected
consist of 1 girl and 2 boys ia

{al %
(b) %
ic) ;—2
@ 5

Consgider the following statements :

1 If 10 iz added to each entry on a list,
then the average increases by 10,

2, If 10 is added to each entry on a list,
then the standard deviation increases by
10

3 If gach entry on a list is doubled, then
the average doublos.

YWhich of the above statements are correct 7

{a) 1,2and3

k) 1and2only
{¢) 1and3only
id} 2and 3 only
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112,
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25 Heoil o wEe 4 8 | 3fE e qaw i 2 9
feu =g 2, 1 ofomdt dEei A v

B 7

fa) 2
(by 4
e} 6
idy 8

afz 9t =i X 3 ¥ 3% am :ﬁ}ﬂ,yi;ﬂgﬂ
(i=1,2 8, .0 R 797 = TOTH 9T FHE:
p 3t Q‘E,Eﬁ%mgﬂﬁmmﬁ

P
(o) =
Yow
(bl antilog [!i}
Q)
() n(logP-logQ)
{d} nilogP+log Q)

afz 21 wemat A =3 B ¥ v omy ¥9
uifrem p B 3 =90 (A afn B ) O R
Tl s & @9 6 mimm o 8, 7 Fafales
H # FHA A R

1. PAI+PB=2_#p 4

2. PiANBi=1fp-=g

1 fom e g2 w1 W w=ES T 9
{a) a1

(b} e 2

1 i 2 2

(d) I LIE2

{el

114.

114.

115.

(40-A)

ofE X T Y & gEEE O - 6 R, 3 X ali
?#ﬁﬂﬁﬁ#ﬂﬂﬂm-%ﬁ.ﬁ‘r?mx?ﬁ

HHTER A F
(al ﬁ

b - ﬁ

el - %

@ g

FaoL BT (xy, 3y (%, Yol oo (Xgy o) T U
aqwE 579 v G oaf am fam e oft
e T TEET ST U we v w § | e
x 31T y 3 e FEEE i & wt A
{a) haer 03 1

(b)  WEE 03T -1

0,130 1

(d) hEer - 131

el

A= (0, 1,2, .., 10) 3 § 7 qOfE « 30y,
yiaemes @fig R 9w ¥ | |x—y| > 5% BEF
1 wrfiRar #

@)
{h)
fed

(d)
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110. The variance of 25 observations is 4. If 2 i8 {118, If the regression coefficient of ¥ on X is — 6,
added fo each observation, then the new

varipnee of the resulling observations iz

and the correlation coefficient between X and

Y is - %. then the regression coefficient of X

(a) 2
ihi 4 on Y would be
1
7 [
w1 i
(8 1
1
24
el !
111 If% >0,y >0 =1, 2,3, ... n) are the values 6
of two variables X and Y with geometric () %‘

meang P oand Q respectively, then the

geometric mean of E 5
Y 114. The =et of bivariate ohservations (%1, ¥

ia) % (Xgs ¥oly.--s (Xp, ¥y are such that all the values
aré distinct and all the observations fall on a
(b} antilog {% straight line with non-zero slope. Then the

possible values of the correlation coefficient
el nilog P-logQ) between x and v are
(al Dand 1 only

ib} Dand-1only

el 0,1and-1

112, If the probability of simultaneous occurrence idl —1and 1only
of two ¢vents A and B is p and the probability
that exactly one of A, B occurs is q, therwwhich 115
of the following is'are correct ?

idd nllogP +log Q)

. Two integers x and y are chosen with
replacement from the set (0, 1, 2, ..., 10}, The

1. PA'+PIB)=2-2p probability that |x -y | > 51is
2. PIANBi=1-psq (a) i]
Select the correct answer using the code given
below ! (ki a5

121
{al 1only

30
ihi  2only i

I “ I

iel  Both 1 and 2

2n
{d) Neither 1 nor 2 @ 93

YPL-5-BLU (41-A)
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116, UF B M F Hefdw 2 wukE A s B?ﬂill&ﬁmﬁ.ﬁqﬁiﬁmﬁhwwmm
afe # fn T aifie S s e, | A 2 0

Fore=terfias wfom 2a1 &
(al HIEq
AT A | FOAT B
e 7 500 e (v e (difE)
st i a5 T 1860 | ¥ 1750 {e)  TOTEIT HTEH
A1 & deA T T 81 100 idi W{‘iﬁ}

FufyEi A o B % o afiysl & v gw fau

s U e
" N S T I o, Fet o s il & (v A EwE

T ), 7 x wr=m B m Taaem w1 FElm w
(a) ¥ 1860, 100 & o v yew Fa=Eem @ FElm W R, 4@
(b) ¥ 1750, 100 frferfian 8 & ®Fam v 7 2

(e} ¥ 1800, B1 fal  y=x

(d) FE § F w5 T h) y<x

117. @9 98 fo weR W1, 2, 3,04,0630 6 % @y wey
@ B owo, e e ) m o R
ﬁﬁrmi'mﬁﬁﬂﬁﬁ-fﬂhmr 120, FrefdEn § @ e v fft 4, am o
T, TR 9L W s w) Pl ST Ry e ) e w0
wd B | ¥9 weR % gufes gfomsl & g

Wi'ﬁﬁx}y}zﬁ-f?

() it s wfsel 6 s

{a) 14 (b) =L = A s gige
(b) 16 (o) T wOfEE & @ 3 39 a6 osE
fomer 7% Wm0 9E
(e} 18
) 20 (d) i # AT ain wEe 6 YeEn ()
YPL-S-BLU (42-A)
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118. An analysiz of monthly wages paid to the | 118, Which one of the following ean be obtained

workers in two firms A and B belonging to the from an ogive 7
same industry gives the following result :
: (al  Mean
FirmA | Firm B
I = (b1 Median
Number of workers GO0 GO0
Average monthly F 1860 | ¥ 1750 {e}  Geometrie mean
i
Variance of |
diztri |1'|.!Il'_'i1;||'_| ﬂf"!’i’ﬂE’EEﬁ 81 | 100 idi Maode

The average of monthly wage and variance of
distribution of wages of all the workers in the

firms A and B taken together are 118. In any/digcrete series (when all values are not

samel, i x represents mean deviation about
fa) ¥ 1860, 100 mean and ¥ represents standard deviation,

(b} ¥ 1750, 100 then which one of the following is correct 7

e} ¥ 1800, B1 fa) yzx

(d}  MNone of the above (b) ysx

(€} Hmy

117. Three dice having digits 1, 2, 3, 4, 5 and 6 on () x<y

their faces are marked 1, I and ULand rolled.
Let x, v and & represent the number on die-I,
die-1l and die-Ill respectively. 'What is the [120. In which one of the following cases would you

number of posgible outcomes such that expect to get o negative correlation 7
X>yp>x?

{al The ages of husbands and wives
(al 14

(bl Bhoe sizge and intellipence
th) 16
65 s (e} Insurance companies’ profits and the

number of elaims they have to pay

(d} 20

(d] - Amount of rainfall and yield of crop

YPL-3-BLU (43-A)
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e &Y & fero s
SPACE FOR ROUGH WORK

YPL-S-BLU (44— A)
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= N & foru wmg
SPACE FOR ROUGH WORK

YPL-S-BLU (45 -A)
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el HH & oo sg
SPACE FOR ROUGH WORK

YPL-S-BLU (46 —A)
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&=l & & foro s
SPACE FOR ROUGH WORK

YPL-S-BLU (47 —A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOI ARE TOLD TO DO S0
T.B.C. : YPL-S-BLU Test Booklet Series

TEST BOOKLET
MATHEMATICS

e e ______ e S
Time Allowed : Twe Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility L6 encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheat linhle for rejection.

8. You have to enter vour Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test Booklet containe 120 items (questions). Each item is printed both in Hindi and English.
Fach item comprizges four responses (answers). You will select the responze which you want to mark
on the Answer Sheet. In case you feel#hat there is more than one correct response, mark the
regponse which you consider the best, Tn any case, choose ONLY ONE response for each item.

E. Yoo have to mark all yvour responses ONE¥ on the separate Answer Sheet provided, See directions

in the Answer Sheet.

All items carry equal marks.

Before vou proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars'in the Answer Sheet as per instructions sent ta you with your

Admassion Certificate,

8.  After you have completed filling in a1l your responses on the Answer Sheet and the examination has
concluded, you should hand overto the Invigilator only the Answer Sheef. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WHONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i)  There are four altermitives for the answer to every question, Por each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to thot question will be deducted a8
penalty.

(i)  If a candidate gives more than one answer, it will be treated as o wrong answer even if one of the given
anawers happens to be correct and there will be same penaliy as above to that question.

(i} If a question is left blank, ie., no answer is given by the candidate, thers will be no penalty for that
fuesELn.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO §0
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